$$\frac{\text{Thm } 1.4 \quad \forall \ S \in \mathbb{C} \setminus \mathbb{Z}}{\Gamma(S)\Gamma'(I-S) = \frac{\pi}{2^{UL}, \pi_S}}$$

$$\frac{(4)}{\Gamma(S)\Gamma'(I-S) = \frac{\pi}{2^{UL}, \pi_S}}$$

$$\frac{(4)}{\Gamma(S)\Gamma(I-S) = \frac{\pi}{2}}$$

$$\frac{(4)}{\Gamma(S)}$$

$$\frac{(5)}{\Gamma(S)}$$

$$\frac{(5)}{\Gamma$$

Note that for O<S<1 (a subset with accumulation points)

points.

$$\Gamma(I-S) = \int_{0}^{\infty} e^{-u} u^{(J-S)-I} du$$

$$= \int_{0}^{\infty} e^{-u} u^{-S} du$$

$$= \int_{0}^{\infty} e^{-t} u^{-S} du$$

$$\Rightarrow [T(I-S)T(S) = [T(I-S) \int_{0}^{\infty} e^{-t} t^{S-1} dt]$$

$$= \int_{0}^{\infty} e^{-t} t^{S-1} [T(I-S) dt]$$

$$= \int_{0}^{\infty} e^{-t} t^{S} (\int_{0}^{\infty} e^{-tv} (tv)^{S} dv) dt$$

$$= \int_{0}^{\infty} \int_{0}^{\infty} e^{-t(1+v)} v^{-S} dv dt$$

$$= \int_{0}^{\infty} (\int_{0}^{\infty} e^{-t(1+v)} dt) v^{-S} dv$$

$$T(1-s)T(s) = \int_{0}^{\infty} \frac{1}{1+\sigma} \sigma^{-s} d\sigma$$

$$= \int_{-\infty}^{\infty} \frac{e^{(1-s)x}}{1+e^{x}} dx$$

$$(using \ 0< 5<1) = \frac{TI}{Aun TI(1-s)} (by \ Eg \ 2 \ of \ 82.1 \ of \ Ch \ 3 \ of \ the \ Text})$$

$$\Rightarrow \ 0<1-s<1 = \frac{T}{Aun \ TI \ s}$$

$$Therefore, uniqueness \ then \Rightarrow T(1-s)[T(s) = \frac{TI}{Aun \ TS}, \ \forall \ s \in \mathbb{C} \setminus \mathbb{Z}.$$

$$Thm I.b (i) 1/r(s) is an entire function of S with
subple zeros at S=0,-1,-2,-... e
 $1/r(s) \neq 0$  for SE  $\mathbb{C} \setminus \{0,-1,-2,\cdots\}$ .  
(ii)  $\left|\frac{1}{\Gamma(s)}\right| \leq C_1 e^{C_2(s) \log |s|}$ , for some constants  $C_1, C_2 > 0$ .  
 $\Rightarrow 1/r(s)$  is of order 1:  
 $\forall E > 0, \exists c = C(E) > 0$  s.t.  $\left|\frac{1}{\Gamma(s)}\right| \leq C(E) e^{C_2(s)^{1+E}}$ .$$

 $\frac{Pf}{\Gamma}: By Thm 1.4, \quad \frac{1}{\Gamma(S)} = \Gamma(1-S) \frac{\Delta \tilde{u} \pi S}{\pi}$ 

Note that 17(1-5) has simple poles at S=1,2,3,... (1-S=0,4,-3...) and surths has simple zeros at S=1,2,3,... So S=1,2,3,... are removable singularities for 1/10(s). Together with the fact the 17 has no other singularity,  $\frac{1}{17(5)}$  is entire,

and vanishing only at  $S=0,-1,-2,\cdots$  (the simple poles of (7(S)). This proves (i).

To prove (ii), we are going to use formula (3) (alternative proof  
of Thm 1.3)  
$$i^{(s)} = \sum_{n=0}^{\infty} \frac{(-1)^n}{n!} \cdot \frac{1}{n+s} + \int_{1}^{\infty} e^{-t} t^{s-1} dt$$
  
which implies

$$[7(1-S) = \sum_{n=0}^{\infty} \frac{(-1)^n}{n!} \cdot \frac{1}{n+1-s} + \int_1^{\infty} e^{-t} t^{-s} dt$$

and hence

$$\frac{1}{T(S)} = \left(\sum_{n=0}^{\infty} \frac{(-1)^n}{n!} \cdot \frac{1}{n+1-s}\right) \frac{\sin \pi s}{\pi} + \left(\sum_{n=0}^{\infty} e^{-t} t^{-s} dt\right) \frac{\sin \pi s}{\pi}$$

## For simplicity, let $\sigma = \operatorname{Res}$ . Then $\left| \int_{1}^{\infty} e^{-t} t^{-s} dt \right| \leq \int_{1}^{\infty} e^{-t} t^{-\sigma} dt \leq \int_{1}^{\infty} e^{-t} t^{-\sigma} dt$

Choose nEN st. 101 = N < 101+1.

Then  

$$\int_{1}^{\infty} e^{-t} t^{[0]} dt \leq \int_{1}^{\infty} e^{-t} t^{n} dt \leq \int_{0}^{\infty} e^{-t} t^{n} dt \\
= \Gamma(n+i) = n! \quad (\text{Lemma } 1.2) \\
\leq n^{n} = e^{n \log n} \\
\leq e^{(|\sigma|+i) \log(|\sigma|+i)} \leq e^{(|s|+i) \log(|s|+i)}$$

We also have 
$$|sints| \leq e^{\pi i s}$$
 (eg1 of § 2 of Ch5).  
.: The 2<sup>nd</sup> term of  $!/r(s)$  has bound  
 $Ce^{(is+i)log(is+i)} \cdot e^{\pi i s}$   
 $\leq c_i e^{c_2 i s i log i s}$  for some constants  $C_{i,c_2} > 0$ . (Ex!)

For the 1<sup>st</sup> term 
$$\left(\sum_{n=0}^{\infty} \frac{(-1)^n}{n!} \cdot \frac{1}{n+1-s}\right) \frac{\sin \pi s}{\pi}$$
:  
Case 1 (Im(s)] > 1

Then 
$$|nt|-s| \ge |Tuus|>1$$
,  
 $\left|\sum_{n=0}^{\infty} \frac{(-1)^n}{n!} \frac{1}{n!+s}\right| \le \sum_{n=0}^{\infty} \frac{1}{n!} = e$   
 $\therefore$  The  $|st term \le Ce^{TTSI}$  for some  $C>0$ .  
Gase 2  $|Tuu(s)| \le 1$ .  
Choose  $k \in \mathbb{Z}$  s.t.  $k - \frac{1}{2} \le Re(s) < k + \frac{1}{2}$ .  
 $Tf k \ge 1$ ,  
 $k = uti$   
 $\left(\sum_{n=0}^{\infty} \frac{(-1)^n}{n!} \cdot \frac{1}{n+i-s}\right) \frac{a\overline{u}nTs}{\pi} = \frac{(-1)^{k-1}}{(k-1)!} \cdot \frac{1}{k-s} \frac{a\overline{u}nTs}{\pi}$   
 $+ \sum_{n+k=l} \frac{(-1)^n}{n!} \frac{1}{n+l-s} \cdot \frac{a\overline{u}nTs}{\pi}$   
Note  $\left|\frac{(-1)^{k+1}}{(k-1)!} \frac{1}{k-s} \frac{a\overline{u}nTs}{\pi}\right| \le C$  and  $\frac{a\overline{u}nTs}{k-s}$  thas removable  
subbridgendent of k or size  $|a\overline{u}nTs|$  is pender  $c$ .  
 $(c is independent of k or size |a\overline{u}nTs| is pender  $c$ .)  
 $aud \left|\sum_{n+k=l} \frac{(-1)^n}{n!} \frac{1}{n!} \frac{a\overline{u}nTs}{\pi}\right|$   
 $\leq C$$ 

If 
$$k \leq 0$$
, then  $k - \frac{1}{2} \leq kes \leq k + \frac{1}{2} \implies Res \leq \frac{1}{2}$ .  

$$\Rightarrow \quad [N+1-s] \geq \frac{1}{2}, \quad \forall n=0,1,2,\cdots$$

$$\Rightarrow \quad \left|\sum_{n=0}^{\infty} \frac{(-1)^n}{n!} - \frac{1}{n+1-s} \cdot \frac{sin\pi s}{\pi}\right| \leq z \sum_{n=0}^{\infty} \frac{1}{n!} \frac{|sin\pi s|}{\pi}$$

$$\leq C$$
since  $|Sins| \leq 1$  (& periodic of  $sin\pi s$ )

All together  

$$f_{T(S)} \leq C e^{T(S)} + C e^{C_2 (S) \log (S)}$$
  
 $\Rightarrow \frac{1}{T(S)} \leq C e^{C_2 (S) \log (S)}$  (maybe for new  $C_1, C_2 > D$ )  
This proves the 1st statement of (ii).  
The 2<sup>nd</sup> statement of (ii) follows from (S) leg (S)  $\leq C (S)^{1+\epsilon}$ ,  $\forall E > 0$ ,  
and  $\sum_{n=1}^{1} conveges \iff T > 1$ ,  
and Thim 2! Of  $S \ge of Ch \le .$  (EX!)

$$\frac{1 \text{ hm 1.7 }}{\Gamma(5)} = e^{YS} s \prod_{n=1}^{\infty} \left(1 + \frac{s}{n}\right) e^{-\frac{s}{n}}$$
where  $\gamma = \lim_{N \to \infty} \left(\sum_{n=1}^{N} \frac{1}{n} - \log N\right)$  is the Euler's const.

Pf: By Hadamard factorization theorem (Thm 5.1 in §5 of Ch5) & Thm 1.6,

$$\frac{1}{T(S)} = e^{AS+B} S \prod_{n=1}^{\infty} (1+\frac{S}{n}) e^{-\frac{S}{n}}$$

By remark (1) after the proof of Than 1.3, sho str(s)=1.

$$\Rightarrow \qquad |= e^{B}, ie B=0 (or B=z\pi i k, keZ)$$
  
$$\therefore \qquad \frac{1}{T(S)} = e^{AS} S \prod_{n=1}^{\infty} (H - \frac{S}{n}) e^{-\frac{S}{n}}$$

Putting S=1, we have  $I = \frac{1}{P(D)} = e^{A} \prod_{n=1}^{\infty} (1+\frac{1}{n}) e^{-\frac{1}{n}}$   $\Rightarrow e^{-A} = \lim_{N \to \infty} \prod_{n=1}^{N} (1+\frac{1}{n}) e^{-\frac{1}{n}} = \lim_{N \to \infty} \prod_{n=1}^{N} e^{\log(1+\frac{1}{n}) - \frac{1}{n}}$ 

$$\Rightarrow for some k \in \mathbb{Z},$$

$$-A+2\pi i k = \lim_{N \to \infty} \sum_{n=1}^{N} \left[ \log \left( \frac{n+1}{n} \right) - \frac{1}{n} \right]$$

$$= \lim_{N \to \infty} \left( \log \frac{2}{1} + \log \frac{3}{2} + \cdots + \log \frac{N}{N} + \log \frac{N+1}{N} \right) - \sum_{n=1}^{N} \frac{1}{n}$$

$$= -\lim_{N \to \infty} \left[ \left( \sum_{n=1}^{N} \frac{1}{n} - \log N \right) - \log \left( 1 + \frac{1}{N} \right) \right]$$

$$= -\gamma$$

$$\therefore \qquad \frac{1}{17(S)} = e^{(r-2\pi i k)S} \cdot S \prod_{n=1}^{\infty} \left( 1 + \frac{r}{n} \right) e^{-\frac{r}{n}}, \quad \forall s \in \mathbb{C}.$$
Putting  $S = \frac{1}{2}$ , (in fact, real not integer) we have  $k=0$ .

§ 2 The Zeta Function

$$\frac{\text{Def}: \text{The } \underline{\text{Riemann } \text{Zeta Function}}}{\text{by}} \quad fn \quad S>1 \quad (S \in \mathbb{R}) \text{ is defined}}$$

$$\frac{\text{S}(S) = \sum_{n=1}^{\infty} \frac{1}{n^{S}}}{\sum_{n=1}^{N} \frac{1}{n^{S}}}.$$

$$\frac{\Pr p2.1}{S(s)} = \sum_{n=1}^{\infty} \frac{1}{n^s} \quad (m \text{ berges for } \operatorname{Re}(s) > 1, \text{ and}$$

$$\operatorname{Re}(s) > 1.5$$

$$\begin{split} & \text{Pf}: \text{ let } S = \sigma + it \quad (\sigma, t \in \mathbb{R}). \\ & \text{Then } \left| \frac{1}{n^{s}} \right| = e^{\text{Re}(-S\log n)} = e^{-\sigma \log n} = \frac{1}{n^{\sigma}} \\ & \Rightarrow \forall \delta > 0, \text{ then } for \quad \sigma > 1 + \sigma, \\ & \left| \frac{1}{n^{s}} \right| \leq \frac{1}{n^{1+\sigma}} \quad \text{and} \quad \sum_{n=1}^{\infty} \frac{1}{n^{1+\sigma}} < t \infty \Rightarrow \\ & \text{the series } S(S) = \sum_{n=1}^{\infty} \frac{1}{n^{s}} \quad \text{converges abstitutely uniformly and} \\ & \text{hence define a trob. Function } n \quad \{S = \sigma + it = \sigma > 1 + \sigma \}. \\ & \text{Since } \delta > 0 \text{ is arbitrary, } S(S) \text{ is defined and holomorphic} \\ & \text{cn } \{S = \sigma + it = \sigma > 1\}. \end{split}$$

$$\frac{\text{Recall}}{\text{O}(t)} : \text{The Thata Function} \quad \text{defined for } t > 0 \text{ by}$$

$$\frac{\partial(t)}{\partial(t)} = \sum_{n=-\infty}^{\infty} e^{-\pi n^{2}t}$$
(Application (1) of Poisson summation formula )
(Application (1) of Poisson (Application (Application

$$T_{\underline{hm}^{2,2}} = \frac{1}{2} \int_{0}^{\infty} u^{\frac{5}{2}-1} (\Im(u)-1) du$$

$$\frac{Pf}{2^{\frac{2}{2}-1}} (\mathcal{Y}(u)-1) \leq u^{\frac{Res}{2}-1} |\mathcal{Y}(u)-1|$$

 $\begin{cases} C \mathcal{U}^{\frac{\Re S - 1}{2} - 1} & as \quad \mathcal{U} \neq 0 \\ C \mathcal{U}^{\frac{\Re S}{2} - 1} - \mathcal{T}\mathcal{U} & as \quad \mathcal{U} \neq \infty \end{cases}$ 

$$\therefore z \int_{0}^{\infty} u^{\frac{s}{2}-1}(\mathcal{Y}(u)-1) du$$
 converges absolute by

and hence 
$$= \int_{0}^{\infty} u^{\frac{S}{2}-l} \left(\frac{\mathcal{D}(u)-l}{2}\right) du$$
$$= \int_{0}^{\infty} u^{\frac{S}{2}-l} \left(\sum_{n=1}^{\infty} e^{-\pi n^{2}u}\right) du$$
$$= \sum_{n=1}^{\infty} \int_{0}^{\infty} u^{\frac{S}{2}-l} e^{-\pi n^{2}u} du$$
$$\lim_{u=\frac{t}{\pi n^{2}}} \int_{0}^{\infty} \left(\frac{t}{\pi n^{2}}\right)^{\frac{S}{2}-l} e^{-t} \cdot \frac{dt}{\pi n^{2}}$$
$$= \sum_{n=1}^{\infty} \int_{0}^{\infty} \left(\frac{t}{\pi n^{2}}\right)^{\frac{S}{2}-l} e^{-t} \cdot \frac{dt}{\pi n^{2}}$$
$$= \pi^{-\frac{S}{2}} \int_{0}^{\infty} e^{-t} \cdot \frac{s^{\frac{S}{2}-l}}{n^{s}} dt$$
$$= \pi^{-\frac{S}{2}} \int_{0}^{\infty} e^{-t} \cdot \frac{1}{n^{s}}$$
$$= \pi^{-\frac{S}{2}} \int_{0}^{\infty} (\frac{s}{2}) \sum_{n=1}^{\infty} \frac{1}{n^{s}}$$

$$\frac{Dof}{S(s)} = \pi^{-\frac{S}{2}} [7(\frac{S}{2})] 5(s)$$

Thm 2.3 • 
$$\Xi(s)$$
 is holo. for  $Re(s) > 1$   
•  $\Xi(s)$  that analytic continuation as a monomorphic  
function to C with simple poles at s=0 & s=1.  
(with res<sub>s=0</sub>  $\Xi(s) = -1$ , res<sub>s=1</sub>  $\Xi(s) = 1$ )  
• And  
 $\Xi(s) = \underline{Z}(1-s)$ ,  $\forall s \in \mathbb{C} \setminus \{0,1\}$ 

$$\frac{Pf}{To simplify notation, let  $\Upsilon(u) = \frac{1}{2}(\Im(u) - 1).$   
Then  $\Im(u) = 1 + 2\Upsilon(u)$   

$$\Rightarrow$$$$

$$\begin{aligned} 1+2Y(u) &= \mathcal{Y}(u) = \mathcal{U}^{\frac{1}{2}} \mathcal{Y}(\frac{1}{u}) \\ &= u^{-\frac{1}{2}} (1+2Y(\frac{1}{u})) \\ \vdots &= u^{-\frac{1}{2}} (1+2Y(\frac{1}{u})) \\ \vdots &= u^{-\frac{1}{2}} \mathcal{Y}(\frac{1}{u}) + \frac{1}{2u^{\frac{1}{2}}} - \frac{1}{2} \quad , \forall u \in (0,\infty) \end{aligned}$$

By Thm 2.2, for ReS>1, we have  

$$\Xi(s) = \int_{0}^{\infty} u^{\frac{s}{2}-1} \Upsilon(u) du$$

$$= \int_{0}^{1} u^{\frac{s}{2}-1} \left[ u^{\frac{1}{2}} \Upsilon(\frac{1}{u}) + \frac{1}{2u^{\frac{1}{2}}} - \frac{1}{2} \right] du + \int_{1}^{\infty} u^{\frac{s}{2}-1} \Upsilon(u) du$$

$$= \frac{1}{2} \int_{0}^{1} u^{\frac{s-1}{2}-1} du - \frac{1}{2} \int_{0}^{1} u^{\frac{s}{2}-1} du$$

$$+ \int_{0}^{1} u^{\frac{s}{2}-\frac{3}{2}} \Upsilon(\frac{1}{u}) du + \int_{1}^{\infty} u^{\frac{s}{2}-1} \Upsilon(u) du$$

$$= \frac{1}{2} \left[ \frac{u^{\frac{s-1}{2}}}{\frac{s-1}{2}} \right]_{0}^{1} - \frac{1}{2} \left[ \frac{u^{\frac{s}{2}}}{\frac{s}{2}} \right]_{0}^{1} + \int_{\infty}^{1} u^{-\frac{s}{2}+\frac{3}{2}} \Upsilon(u) (-\frac{du}{u^{2}}) + \int_{1}^{\infty} u^{\frac{s}{2}-1} \Upsilon(u) du$$

$$\exists (s) = \frac{1}{s-1} - \frac{1}{s} + \int_{1}^{\infty} (u^{-\frac{s}{2} - \frac{1}{2}} + u^{\frac{s}{2} - 1}) \psi(u) du \quad (t)$$
Note that  $|\psi(u)| = \frac{1}{2} |\vartheta(u) - 1| \le C e^{\pi u}$  as  $u \to +\infty$ 

$$= \int_{1}^{\infty} (u^{-\frac{s}{2} - \frac{1}{2}} + u^{\frac{s}{2} - 1}) \psi(u) du \quad (onvoyes absolutely)$$
for all  $s \in C$  (not just  $Res > 1$ ) and defines
an entire function. Hence the RHS of  $(t)$ 
es a meromorphic function with simple poles
at  $s=0 \le S=1$  (with corresponding residues).
This proves the first two statements.

For the last formula, substitute 1-s 
$$\tilde{u}(\underline{*})$$
, we have  
 $\underline{\xi}(1-s) = \frac{1}{(1-s)-1} - \frac{1}{(1-s)} + \int_{1}^{\infty} (u^{-\frac{1-s}{2}-\frac{1}{2}} + u^{\frac{1-s}{2}-1}) \underline{\psi}(u) du$   
 $= -\underline{\xi} + \frac{1}{s-1} + \int_{1}^{\infty} (u^{\frac{s}{2}-1} + u^{-\frac{s}{2}-\frac{1}{2}}) \underline{\psi}(u) du$   
 $= \underline{\xi}(s).$